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] == Cs-134+Cs-137 Cs-137 Cs-134
WEAR MM REES [MERHEG|T S| S8 _ __ __ =
ETRE+ I8 | FIRIE| AT+ 82 | FIRIE| Mot~ 52 | M FIRIE
(Ba/ke) (Ba/ke) (Ba/kg) (Ba/ke) (Ba/ke) (Ba/ke)
1A168 11:12:09] 25% Rl EhRFE 674 V-5 | " #&H <19.8| <19.8 T <8.7 <8.7 FuEE<I1 <111 FEE
128058 11:02:49| 25% = KiE 637 V-5 | & H<20.7| <20.7 Tt <9.2 <9.2 FHEHE<11.5] <11.5 FER
118078 11:31:55| 304 h=ElE TRy 604 V-5 | " #&H <19.8| <19.8 T <8.7 <8.7 FEEH<I11 <11.1 HEER
108318 11:58:20[ 30% LAPZE [E5NAE 5712 V-5 | " <21.8| <21.8 Tt <9.6 <9.6 <122 <12.2 HER
98128 11:46:26| 274 HCH ZEw oY 616 V-5 | & <20.6| <20.6 T <9.1 <9.1 FHEHE<11.5] <11.5 EHE
88068 10:54:28] 25% EMNY ZEw oY 649 V-5 | A <21.0| <21.0 T <9.1 <9.1 FHRHE<11.9] <11.9 EHE
7H098 11:23:271 304 i IKE 582 V-5 | " #&H <20.8| <20.8 T <9.1 <9.1 FRE<I1.7] <117 IR
58298 10:44:58[ 307 |WFHAEWIEZFSNAE 579 V-5 | e <21.3| <21.3 FHEH<9.3 <9.3 FHHE<12.0| <12.0 | #HEE
48178 11:23:00{ 2754 RlGE ZEw oY 629 V-5 | " <20. 4| <20.4 FHHEH<8.9 <8.9 FHEHE<11.5] <11.5 FER




